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. Wal-Mart is trying to achieve a boundaryless retailing empire by implementing
global pricing, sourcing, and logistics.

2. Samsung has increased the competitive rivalry in the consumer electronics
market because it has placed high strategic stakes on market leadership.

3. Traditionally, Japanese industry has been focused on vertical integration,
precluding heavy use of outsourcing.

4. The competitive rivalry in the PC industry triggered by Dell’s price war caused
profit margins to decline for all firms in the industry, except for Dell.

5. Vertical integration continues to be the focus of most manufacturing firms,
including Intel, Dell, and GM.

6. Most foreign R&D spending by U.S. affiliates is in India because of its large
supply of highly-educated, English speaking professionals and its comparatively
lower pay scales.

7. Private companies owned by Chinese families outside of China compose the
fourth largest economic power in the world.
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1. Dell Computer uses the Internet as a business-organization system. This is
expected to have all but which of the following effects?
a. eliminate paper-based functions
b. increase promotional opportunities
c. flatten organizational hierarchies
d. shrink time and distance restrictions

2. When a firm such as Harley Davidson has a strong brand name, it is challenged
to:  a. develop another source of competitive advantage.
b. exploit the brand name as a competitive advantage.
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c. develop new bundles of resources to be used to gain a competitive
advantage.
d. identify new core competencies in the firm.

3. Walt Disney’s focus on is typical of a slow-cycle market.
a. innovation
b. total quality
c. proprietary rights
d. economies of scale
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